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Problema 1 Calcular los siguientes limites:

a) lim (=72 =323 + 52 + 24+ 1)

T—>r 00

b) i 323 — 2?42 —4
fm
S0 227+ +5

V15t + 322 — 2 — 1
T~ 00 —512 48

d) lim (V322422 —3— /322 — 52 — 1)

T—>00

224 + 1023 — 2622 — 106z + 120
11m
r—1 324 — 1023 — 7522 — 30x + 112

e)

223 + 1522 — 32 — 70
im
e—2 323 + 1722 — bdx + 16

. Va2 4+2—+8x—5
lim

r— 7 z—17

Va2 —2—\4izx +3
h) lim
r— 5 r—25
(3302 - 7x+2)3’f
322 -4

f)

g)

i) lim
Tr—> 00

x2+8x+15 522 —8x+5
) (Zr8e0)

52 —x + 2
V322 +Tx — 2

T—00 —7x+5

V=brt+322 —x+1
T—>00 222 + 6

o 35 — 22t 4222 — T
m) lim
r—0 5x
. V2726 -2 +5
n) lim

500 32+ 7

i) lim (V722 — 62+ 9+ /522 + 22— 5)

T—>00



Solucion:
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